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3 AFEF 5 L89 51 H 1,000 15 503 H
10,000 £Z 671 H
100,000 £Z 839 =]
1,000,000 & 1,007 B
) AROSF 5 L90 29 & 1,000 & 287 3
10,000 f& 383 F
100,000 £Z 478 £
1,000,000 & 574 £
7 %129 1570 4% 1,000 £ 15,646 F
10,000 f& 20,862 £
100,000 f&= 26,077 &
_ 1,000,000 & 31,293 £
8 EE KL 8 A 1,000 15 80 H
10,000 £ 106 H
100,000 f& 133 B
_ _ 1,000,000 f& 159 B_
9 9% 135 L 1,000 15 66 53]
10,000 f& 88 ¥
100,000 £Z 110 5 E
1,000,000 & 132 B 5
11 2 L134 2 £ 1,000 £ 20 F
10,000 £Z 27 F
100,000 £Z 33 F
1,000,000 f& 40 £
12 > 1135 230 HF 1,000 & 2,292 hE
10,000 £Z 3,056 B
100,000 {Z 3,820 b
1,000,000 f& 4,584 b E
13 €9 L1137 30 % 1,000 & 301 3
10,000 £Z 401 £
100,000 £Z 502 F
1,000,000 f& 602 £
24 TILh=ry L1238 88 £ 1,000 fiF 877 23
10,000 f& 1,169 F
100,000 £Z 1,462 £
_ 1,000,000 £ 1,754 3
25 | JILF=5L1239 2 BE 1,000 & 24 B
10,000 f& 32 k3
100,000 £Z 40 BE
1,000,000 £ 48 L
31 kJr 1228 2 £ 1,000 & 19 £
10,000 f& 25 F
100,000 £& 32 £
1,000,000 £& 38 £
32 FJ5 L4229 7,340 4 1,000 {= 73,149 iz
10,000 f& 97,532 F
100,000 £& 121,915 £
_ 1,000,000 & 146,298 £
33 K15 4230 8 A& 1,000 {= 75 B
10,000 f& 100 k3
100,000 £& 125 k3
_ 1,000,000 f& 149 B
34 RS L232 141 BE 1,000 {= 1,405 B
10,000 f& 1,874 EE
100,000 {& 2,342 BE
1,000,000 f& 2,810 EE
36 EZZZN 12 £ 1,000 £% 123 F
10,000 f& 164 £
100,000 £Z 205 F
1,000,000 f& 246 £




